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Short answer questions/problems

1.  How does a rights offering differ from a cash offering when a firm is issuing common stock?

2.  Immediately after you invest in a bond, interest rates fall.  If interest rates remain at this lower level over the remainder of your investment horizon, will the return on your investment in the bond exceed or be lower than the yield to maturity when you bought the bond?  Explain (briefly).

3.  How does competition between traders drive the market towards efficiency?

4.  What do event studies reveal about market efficiency?

5.  Why is it that if markets are efficient, investment produces a higher return than speculation given a fixed level of risk?

6.  Assume that on Wednesday, June 20th, you bought 5 puts on Cisco that expire in August which have an exercise price of $20.  If Cisco's stock price falls by $1 per share between the time you bought the puts and when they expire, what is your overall profit or loss from buying the puts?

7. A call you purchased has fallen in value.  What would explain this change in value of your call?

8.  Briefly explain how the payment of dividends benefits stockholders at the expense of bondholders.

9.  List the ways in which debt might help resolve conflicts of interest between stockholders and managers.

10.  Assume capital markets are perfect and that you own stock in a firm that has just announced that it intends to issue debt and repurchase common stock.  What can you do to offset the impact of this action by the firm?

Problems/Essays

1.  Your boss at Clear Run Inc. has just come into your office and stated that the firm is considering reducing its leverage by issuing common stock and using the proceeds to retire some of its outstanding debt.  Your boss has asked you to make a presentation that lays out the advantages that this change in capital structure would offer for the firm's stockholders (he is asking some else to lay out the disadvantages of this change).  What advantages should you discuss and what information would you need to gather in order to determine the extent to which Clear Run would actually benefit from the advantages you are laying out.

2.  Cordovan Inc. has assets with a current market value of $500,000 but it is considering investing $250,000 in a new project which is expected to generate a positive NPV of $60,000.  The expected life of both the project and Cordovan's existing assets is 10 years.  The standard deviation of returns on Cordovan's existing assets equals 54%. While the standard deviation of returns on the new asset is expected to be 62%, the standard deviation of returns of the overall firm is expected to fall to 52% due to the low correlation between Cordovan's existing assets and the new project.  Cordovan has outstanding debt that matures for $600,000 five years from today.  Cordovan will fund the project with $100,000 of cash.  The remaining cost will be covered by issuing common stock and additional debt which matures for $150,000 five years from today.  The APR with continuous compounding on Treasury Strips varies according to maturity as follows:  1-yr = 3.58%, 5-yr = 4.84%, 10-yr = 5.49%, 15-yr = 5.94%, 30-yr = 5.60%.

What is the value of Cordovan stock after the project is undertaken?
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Short answer questions/problems

1.  In a rights offering, the stock is offered to existing stockholders and with a cash offering the stock is offered to the general public.  

2.  Unclear => reinvestment income falls but sales price rises

3.  Both have an incentive to be fully informed.  The seller wants the price to equal or exceed the value and the buyer wants the price to be less than or equal to the value.  Thus, the only price at which a transaction can occur is if price equals value.

4.  For most types of information, prices adjust quickly to announcements.  The main exception is earnings announcements…for which prices only adjust slowly.

5.  No mispriced securities exist so no extra return is possible, but costs are higher due to search and trading costs.

6.  Cost = -5(100)(4.3) = 2150.  Cash flow at exercise = 5(100)(20-15.40) = 2300.  Profit = 2300 – 2150 = +150

7.  Decrease in stock price, time to expiration has fallen, decrease in risk-free rate, decrease in variance of returns on stock.

8.  As firm value declines, the value of stock and bonds decline.  However, stockholders have a net gain since the stock value declines less than the cash they receive (since the decline of stocks and bonds equals the dividend).  Also, the payment of cash means that the variance of returns on the firm’s assets increases which leads to a further gain by stockholders at the expense of bondholders.

9.  1)  keeps surplus cash out of management’s hands so won’t waste it, 2) allows managers to own a larger percentage of the firm, and 3) keeps pressure on management to perform or face bankruptcy.

10.  Buy debt and sell back some stock.

Problems/Essays

1.  If a firm is experiencing financial distress, then decreasing debt can reduce financial distress costs

1)  reduce probability of bankruptcy which reduces the present value of expected bankruptcy costs.

2)  if don’t fully expect to use tax shield then 
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 may be less than the equilibrium TB which means that the expected tax savings by the firm is less than the taxes paid by the bondholders.

3)  If low confidence in the firm due to high debt, then reducing the debt will reduce the possibility of lost sales, lost employees, lost supplier credit, and higher credit costs.

4)  Free management from needing to spend time avoiding bankruptcy rather than maximizing value.

Information needed:  Current taxable income and stability of taxable income.  This information will reveal how likely the firm is to use the tax shield and how likely it is that the firm is suffering from financial distress.  You also need the current interest expense.

2.  V0 = 500,000 + (250,000 - 100,000) - 250,000 + 310,000 = 710,000

Dt = 600,000 + 150,000 = 750,000

2 = (.52)2 = .2704
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